
Jerry Greer's Engineering - 1947 Chief - Generator Mount

Ref Part # Qty Description Price

Page 1               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1947 Chief - Generator Mount

Ref Part # Qty Description Price

1 75538 1 GENERATOR BRACKET CAP, generator mounting bracket $65.00

2 75537 1 GENERATOR BRACKET, $185.00

3 JG-2563 1 FASTENERS, generator bracket $25.00

4 207115 4 BOLT, 5/16''-24 X 1.250''(Hex), Cad Plated $3.75

5 207117 1 BOLT, 5/16''-24 X 1.500''(Hex) $4.75

6 207121 1 BOLT, 5/16''-24 X 2''(Hex), Upper & Lower, Rear $5.75

7 922007 5 WASHER, 5/16'' Split Lock; Cad Plated $0.75

8 606010 2 NUT, 5/16''-24(Hex); Cad Plated $1.25

Page 2               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering


